Instruction Manual

PMF-24V200WCLI1 / PMF-24V240WC1O

Safety Instructions

. The device is not recommended to be placed on low thermal conductive surface. For
example, plastics.

. For safety reasons, please ensure the mounted device is kept at 2 4mm safety distance at
all sides from other components and equipments. In addition, to ensure sufficient
convection cooling, always maintain a distance of 2 20mm from ventilated surfaces while
the device is in operation (Refer to Fig. 3).

. Note that the enclosure of the device can become very hot depending on the ambient
temperature and load of the power supply. Do not touch the device while it is in operation
or immediately after power is turned OFF. Risk of burning!

. Do not touch the terminals while power is being supplied. Risk of electric shock.

. Prevent any foreign metal, particles or conductors from entering the device through the
openings during installation. It may cause: - Electric shock; Safety Hazard; Fire; Product
failure.

. Warning: When connecting the device, secure Earth connection before connecting L and
N. When disconnecting the device, remove L and N connections before removing the
Earth connection. The power supply must be mounted by metal screws onto a grounded
metal surface. It is highly recommended that the Earth terminal on the connector be
connected to the grounded metal surface.

Device Descriptions
Refer to Fig. 1.:
@ Input & Output terminal block connector
@ DC voltage adjustment potentiometer
® DC OK control LED (Green)
@ Remote ON/OFF function connector (Option)

Installation of the Device

Side Mounting: Fig. 2 and Fig. 3 show the mounting hole locations for power supply
assembly onto a metal mounting surface. The power supply shall be mounted on
minimum of 4 mounting holes using M4 screw of maximum 4mm length (Refer to Fig.
5). This is to maintain a safety distance between the screw and internal components.

Base Mounting: Fig. 2 and Fig. 3 show the mounting hole locations for power supply
assembly onto a metal mounting surface. The power supply shall be mounted on
minimum of 4 mounting holes using M3 or 2 mounting holes using M4 screw of
maximum 4mm length (Refer to Fig. 5). This is to maintain a safety distance between
the screw and internal components.

© Fig. 2: Connector

@ Fig. 2: This surface belongs to customer’s end system or panel where the device is
mounted.

e  Use flexible cable (stranded or solid) of AWG No. 20-12. The input/output connectors’
allowable current is 23A max per pin. User should calculate and select the suitable wire
specification (type/quantity/diameter) according to actual output current. The torque at the
connector shall not exceed 13Kgf.cm. The insulation stripping length should not exceed
0.275” or 7mm (Refer to Fig. 4).

. Recommended mounting torque of the product and its mounting accessories is 6~8Kgf.cm
(for M3 screw) or 9~12Kgf.cm (for M4 screw).

Installation of Mounting Accessories
. Please refer to the requirements in section 3 for the “Installation of the Device”.

PMF-24V200WCGL], PMF-24V240WCG[]
(Front Face Terminal Block)

PMF-24V200WCAL], PMF-24V240WCAL
(Standard Terminal Block)

FAN SURFACE FAN SURFACE

TOP SURFACE

SIDE_SURFACE

SIDE_SURFACE

BASE_SURFACE BASE SURFACE

Fig. 1: Device Descriptions

Base Mounting (Horizontal)

Base Mounting (Vertical)

|

gz
M=,

7 10

Lo U mcdin

100U 4

Fig. 2. Mounting Orientation

Safety Distance
MOUNTING HOLE (FOR M3 SCREWS)
- | o D1 =4.0mm Min.

° ° ® MouNT G HoLE D2 = 20.0mm Min.

Dt

o2 Bl
1

!
° °
° ° ,° /©

° 3 &

MOUNTING HOLE (FOR M4 SCREWS)

OJG I
[/

-©

Fig. 3. Mounting Hole Locations and the Safety Distance

CHASSIS OF

M N
7mm. ACCESSORIES THE DEVICE

—
Lug Stripped wire

MOUNTING
SCREW

Fig. 4. Wire Type Fig. 5. Assembly Reference

www.DeltaPSU.com




SRS SEFIEET PMF-24V200WCI O / PMF-24v240WCO0O
1. Z2HE 1. Z2HE

o EEAIREEERER (REE ) - o ERATRERIEREE (RIEE—) -

o BLERERIFED 20mm AYEREE - DAEECRESUSAITEST © o SHNEREAFFED 20mm BYEEE > DUARUL T o

o FESMFSEESRREEIER > fl: B - o AP ESEEREERSE - fli0 - B -

o KEMZTHETRIL o EERMELHEAESIRFFED Amm BREEEDUS 2 2 2R o APERIERESENIE » ARRELFISAT BRFTED dmm AR DL 2 22 e I

(fzE=) -

o RMBDRMRAESLATIE  ARINRE GRS - RILE FEREUE R
RERI PR R > DI 5 -

o F/TE LRI EEGERG T DR -

o ALY B G e 7 R S L AR N > BRI S
HETHIRNE ©
—EE TaEE K EmAE

o EG TEEPRAESLFEROUER - BRI AREA HE L FON  EERBH AR
B ST LA N BERHZME A TR ARG - 2288 - ERALERS SR L

TSN B % E VAR S B B SR B - e A
Wi s 2 R R -

ERINENE

RISE—
@ @A T

@ EhEEHEEES
®  HRELE OK 5t (&htn)
(@ Remote ON/OFF function i (Option)
EREETR
®  WEES (REE B S S R o PR AL EETL -
7 S P b AT TR Amm £ M4 8255 (el 77) 98 AT 25/ DO
BIFETL - R T AR AT T R JE S R -
BEEZESE (S S =), R e EE S N - R A E L -
e i e A S RE R REHE Amm (1Y M3 B0 AR /U P (B FLak
M3 B2 DB EFL (ISR - B R T HERER AR S e R I 40
B TERE -
AR T -
© E—: hEERE LSS AR -

o TELRAVREET AT L REECE L 0 AWG No. 20-12 - iy A/ 38 B0 - (9 i 255
23A/PIN - fi FH 8 75 8 o B PSR A Al L R B S A S Y AR AR (B4R B4R
) o HFERIERZ A 13Kgf.om JIGRATR R g% 0.275” 5 Tmm (fIREZ[EI)

o R SLELEE SHAC AR SRARTIE By 6~8Kgf.om (M3 245%) Bt 9~12Kgf.cm (M4 i24%) -

sy
o HSHL 3 EMEETR NEEKR -

(fAER=) -

o RIBURRER IR - AR S
B A AL - DA 21 -

o IFTE LN ABGERSR T DR SR -

o EEIREY > N GEEITIFEEE S ZE R EE LA > B ES
AETBIRS -
—Hd FREE KR PR

o EE RS AIRBLRINS o PR IS BRI RS A HE L DN o SRR R R N
o RS LA N SRRSO BT - 22 sURB N 88 2 BT AL
[RIRLZ BT EE R - R EE E AU A BT S R B o R I AR
St 3 2 EELJ R

PRI
ARl —:
@

TR > BRI SR S

S AE R T
@ ErEERETErS
@ EFrREH OK F57RAT ()
@ Remote ON/OFF function 1:F (Option)
P REERR
®  WEZSE GHEESE ) 0 S E ERE R AL EETL -
o R PR e A= e FE R BT Smm 4 M4 822 (IR BT /004
EETL « BB T (RIR RN TT LR B U H0 SRS -
EEZE (MR — SR =) 07 Sh2e e e - FPR L B AL ETL -
PR A = S K FE R BT 4mm 1y M3 I8 B A T 28/ D00 MBI R 7L
M3 $22 FE DTRANELETL (AT « BB T i RIB RIp S0 T 2 ) S B
YRS -
© E=: WA ERRT -
© B HEEEE NS AR -

o AT ETGE SRS - AWG No. 20-12 « i A/H LU BT T-AITH % B
23AIPIN - {1 2 3 (7 5 S RO A L PR SE A P AR RS (RS 2%
%) - $HAE R 8BE 13Kaf.om JIZEAK I L2885 0.275" 502 7mm (IRIEFEID) -

o P EE A ) 6~8Kgh.om (M3 §222) 5, 9~12Kgf.om (M4 #242) -

IE-AEZH
o EZFLM 3 amEET T HAEEK -

www.DeltaPSU.com



